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3 EAHE 1 Z@KkA0 d1A
4 TERkER 1 JIS10K755y
5 HBERT 1
6 BRE 1R
7 S$EHR 1
8 ®a 13 J1810K7355°
9 KigEH 1
10 SRE T 1
11 Bk 5 1
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#t 2/min 50/60HZ m KW
TCP-5B 84 21 0.75
TCP-10B 167 18 0.75
TCP-15B 250 19/20 15 T
TCP-20B 334 20 2.2
TCP-25B 417 17 2.2
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A= L W H d1A d2A
TCP-5B 1,050 730[ 1,150 32 32
TCP-10B 1,230 750[ 1,250 40 40
TCP-15B 1,280 750 1,440 50 50
TCP-20B 1,280 750[ 1,500 65 65
TCP-25B 1,280 750[ 1,800 65 65
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m3./H m2 Mpa C Kg Kg
TCP-5B 5 2.3 160 190
TCP-10B 10 5.6 0.29Mpa 180 220
TCP-15B 15 9.8 (3Kg/cm2) 45 210 260
TCP-20B 20 1.2 220 270
TCP-25B 25 148 230 300
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